Nombres Carrés Courants (G)

Nom:

Date:
Trouvez le nombre carré de chaque nombre suivant.
902 =_ 22 — 802~
112 = 72— 102=
3¢ =_ 44 =__ 2=
52 = 142 = 252 =
12 = 402 = 202 =
30°=__ 602 =__ 8= _
132 = 702 = 502~
6> = 15% = 122 —

Résultats: /24
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Nombres Carrés Courants (G) Réponses

Nom: Date:

Trouvez le nombre carré de chaque nombre suivant.

902 = 8100 22 = 4 80%2 = 6400
112 = 121 72 = 49 102 = 100
32= 9 42 = 16 92 = 81
52 = 25 14> = 196 25%2 = 625
12 =1 402 = 1600 202 = 400
302 = 900 60> = 3600 82 = 64
132 = 169 70% = 4900 50% = 2500
6% = 36 152 = 225 122 = 144

Résultats: /24
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